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pulic int Years(int :C#2 n9won nand
yearl)
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public Book (int code,int year,bool istrans)
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Book bl=new Book(1122,1978. true);

Book b2=new Book(2233,2010,false);

if (bl.Years(2014)>10 && b1.GetlsTrans() )
Console.WriteLine("&&&");

else
Console.WriteLine("****");

if (b2.Years(2015)<6 )
Console.WriteLine("new");

else if (b2.GetlsTrans())
Console.WriteLine("English");
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public Baby(string id,string gender,int height ,double weight) id , Yow MR TN "D PPN N2 A
weight .19pwn height 172 gender , 11°n

public Baby(string id ,int height,double weight) id , Yow MR TN "D PPN N2 A
weight %pwn height ,3mam "F" , won

public int GetHeight() PN T2 DR AT YD
public double GetWeight() PN 2pWn DR 77T 72D
public void UpdateWeight(double w) PN Dpwn w oM YD
public void AddHeight(int h) .21°N% 72137 h 719°01m7 721w
public bool IsSame(Baby other) 12132 777 other PIPNT OX true AT AW
falser™ TN NANR M0 PI°NY 2pwR




.public Baby(string id ,int height,double weight) 71127 79w nXk Baby nponma wnn .1
21000 Dpwnt W n9o0ma n2wen nk Baby aponna winn .2
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L0772 17 2OW DRI MIDNT 70 5w 2237V DR LIPW NINDNT 9 YW Mnawn IR 0w axy oY
Baby bl = new Baby("1111","M",65,3.2);
Baby b2 = new Baby("2222","F",70,2.6);
Baby b3 = new Baby("3333",60,3.5);
b1l.UpdateWeight(0.3);
bl.AddHeight(5);
b2.UpdateWeight(0.2);
b3.AddHeight(10);
if (b1.IsSame(b3))
Console.WriteLine("***");
if (b2.IsSame(b3))
Console.WriteLine("!!!");
else
Console.WriteLine("*!!1*");
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public Store()

{

this.arrCust = new Customer [100;
this.current = o ;
}
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public Dog (string dogtype, string dogtame)
{
this.dogtype = dogtype;
this.dogname= dogname ;
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public static void ColoredReport (HowHow how)
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Public Static int Sod (Stack<int> s1, Stack<int>s2 )
.0°9W 031907 MP°I0 N1I0AN SNW NP2aPH : 0°13 NIvL
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{
if (s1.IsEmpty()) || (s2.IsEmpty())
return 0;
else if (s1.Top()>s2.Top())
returen s1.Pop() + s2.Pop() + Sod(s1,s2);
else
return s1.Pop() + s2.Top() + Sod(s1,s2);
}
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